Kolokwium Obecnosé Wynik koncowy Ustny Egzamin poprawkowy
indeks |Suma kol. Egzamin | Cw. AG | Cw. BP |Razem |% Ocena Test Opt. |Test FMS |Zad. 1 |Zad. 2 |Zad. 3 |Zad. 4 [Suma test |Suma zad. |Egzamin |Ocena
20 40 60| 100 10 10 20
305656 5.75 19] 4nb 24.75| 41|popr 9 10 19
332089 0] 3nb 18 30|popr 9 10 19
320389 0 0 0|NK 9 8 17
293509 16 26| 43|popr 8 9 17
219100 ok 14| 23|popr 8 9 17
332467 ok. 17.5 29|popr 7 9 16
341937 20.5] 4nb 1 33.5| 56|3 3+ 7 8 15
332479 ok. 16 27|popr 7 8 15
332552 wyktad 6 9 15
320547 8.5 18.5] ok. 27 45|popr 7 7 14
332472 ok. 15 25|popr 6 7 13
306729 0 24 ok 24|  40|popr 5 6 11
332708 ok 12.5 21|popr 5 6 11
320327 R 05| 132 4 6 10
332528|usp ok popr 3 7 10
305957 6]wykfad 1 6 30|popr 5 5 10
278762 6 ok. 6 10{do wyjasnienia 3 6 9
306872 0 17.5 ok 17.5 29|popr 5 3 8
335484 ok. 13 22|popr 5 1 6
306797 15 ok 27.5| 46|ustny 3 2 5




